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Question #1 Catawba Nuclear Staticn SRO Exam

1 Piis) Unit 1 is at 9% power conducting a power ascension to full in accordance
with normal plant operating procedures. Given the following events and
conditions:

= An electrical transient occurs on transformer 1A
= The fast bus tratisfer does not oceur.
" The frequency on 1TA and 1TC dips te 55 hertz and voltage decreases
o 6600V for approximately 3 seconds.
Which one of the following sequences describes:
1. The automatic plant response to this transient, and
2. 'tThe correct procedure to be implemented?

A, 1. Al NCP safet
2. Enter AP-04 (L
reactor,

tkers open but the reactor-does not trip.
ss of Reactor Coolant Pump) and trip the

B. 1. The A and C NCP safety breakers open and a reactor trip
eccurs.
2. Enter E-0 (Reactor Trip or Safety Injection)

C. 1. The A and C NCP safety breakers open but the reactor does
not trip.
2. Enter AP-04 (Loss of Reactor Coolarnt Pump) and trip the
reacter,

bt

. . All NCP safety breakers open and a reactor trip occurs.

2. Enter E-0 (Reactor Trip or Safety Injection)
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Question #2 Catawba Nuclear Station SRO Exam

1 Pt(s) Unit 1 was operating at 100% when the unif trips due to a break on the
) g P
pressurizer code safety line. Given the following events and conditions:

e Containment pressure peaked at 3.4 psig.

+ Current containmertt pressure is 1.5 psig and decreasing.

e DBoth trains of ICCM are inoperable. '

e The operators are evaluating S/ termination criteria in E-1 (Loss of
Reactor or Secondary Coolani).

(iven the following parameters at the indicated times:

Time Interval 2:00 2:03 2:06
Pressurizer pressure (psig) 675 725 775

Core exit TA temp (°F) 455 480 495
Thet (°F) 450 470 480
Highest narrow range steam  15%  19%  24%
generator levels (%)

Total CA fiow (gpm) 425 475 465
Pressurizer level (%) 12% 22% 25%

Which ene of the foliowing statements correctly describes the earliest time
(if at ail) that the operators can transition to ES-1.1 (Safety Injection
Termination)?

REFERENCES PROVIDED:
A. Transition to ES-1.1 at 2:00
B. Transitien to ES-1.1 at 2:03

C. Transition to ES-1.1 at 2:06

D. SI flow may be nof tcrmhls;ted - continue monitoring S/1
termination criteria.
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Question #3 Catawba Nuclear Station SRO Exam

1 Pt{s} The night Shift Work Manager (SWM) provides a record of work hours as
listed below:
10/16
1500 Started Shift Turnover
1630 Assumed shift duties
10717
0730 Relieved of duties
0800 Departed site
1530 Called in to relieve the day shift due to illness
1600 Assurned shift duties
10/18
730 Relieved of duties
(800 Departed site

Wher, if at ali, was the latest possible time that a Request for Works Hours
Extension could be completed and approved?

REFERENCES PROVIDED

A, No "Request for Work Houars Extension' forin was needed for
the operator fo work the scheduled howrs.

B. Prior to the eperator assuming shift dutics at 1660 on 10/17,

€. Prior to the operator working past 0000 on 10/18.
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Question #4 Catawba Nuclear Station SRO Exam

1 Pt{s)} Unit | is conducting a plant startup. Given the following Intermediate
Range and Power Range NI channel indications:

N-35=3.1 x 10" amps

®

& N-36—3.6x 10° amps
e N-41 =9.6%

e N-42=92%

e N-43=10.9%

e N-44-94%

L

Therma! Power (GAC) = 10.1%

If the operators have taken all required procedural actions during the startup,
which one of the following statements describes:

1. The problem indicated by these readings, and

2. The action required.

References Provided:

A 1. N-35 is reading too high for existing conditions.
2. Continue the plant startup by increasing thermal power to
greater than 10% power within 2 hours.

B. 1. N-36 is reading too low for existing conditions.
2. Held power at current levels until N-36 has been repaired.

C. 1. N-35 is reading toe high for existing conditions.
1. Shatdown to less than P6 within 2 hours.

D, 1. N-36 is reading too low for existing conditions.
2, Continue the plant startup by increasing thermal power to
greater than 10% within 2 hours.
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Question #5 Catawba Nuclear Station SRO Exam

1 Pi(s) Unit 2 is responding to a SGTR on the 2C S/G in E-0 (Reactor Trip or
Safety Injection). Given the following events and conditions:

0200 0202 0204 0206 0208
20 5/G NR evel=  98%  99% 100%>100% >100%

Which one of the following sets of /G WR level indications is expected for
the 2C S/G as it filis up with NC system coolant?

020¢ 0202 0204 9206 0208

A. 208/GWRIevel= 72%  74%  75% 75% 75%
B. 2C8/G WRlevel= 72% 74% 77% 80% 82%

2CS/IGWRlevel= % 92% 93% 95% 96%

e

D. 2C S/G WRilevel= 90% 92% 99% 100% 100%
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Questicn #6 Catawba Nuclear Station SRG Exam

1 Pt(s) Unit I was operating at 100% power when a loss of condenser vacuum
occurred. Given the following events and conditions:

» The operators initiated AP/23 (Loss of Condenser Vacuwm) and
APAY (Rapid Downpower)

® Reactor power dropped to 85%

s Turbine load dropped to 82% based on turbine impulse pressure

¢ The operator reports that condenser vacuum is 23.8 inches vacuum
and is continuing to decrease slowly.

Which one of the following statements correctly describes the required
action for the current conditions?

A, Maznually trip the turbine then trip the reactor and enter E-0
{(Reactor Trip or Safety Injection) immediately.

B. Manually trip the reactor then trip the turbine and enter
APO2 (Turbine Generator Trip) immedistcly.

C. If vacuum reaches 21.8 inches, manually trip the reactor and
enter K-,

. If vacwum reaches 21.8 inches, manually trip the turbine and
enter AP/OZ,
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Question #7 Catawba Nuclear Station SRO Exam

1 Pi(s) Unit | experienced a LOCA with a breach: of containment at 0200, The
OSM assumed the duties of the Emergency Coordinator and declared a
general emergency at 0210, The initial recommended protective actions at
G225 were as follows:

¢ Shelter zones A2, A3, B2, C2, D2, E2, 2, F3
e [vacuate zones AG, Al, BI, Cl, D1, E1, F1

At 0235, the initial dose projection information was presented to the OSM.
Given the following conditions at (245:

e Wind direction = 450°
*  Wind speed == 4 MPII 7
* Projected dose at the site boundary
¢ TEDE =250 mrem
¢ (CDE thyroid = 400 mrem
e Containment radiation levels
s 1EMF53A =950 R/hr
e 1EMF53B = 955 R/hr
e Ofisite monitoring teams have not yet reported results

Which one of the following protective action recommendations are correct
in accordance with RP/0/A/5000/057

REFERENCES PROVIDED:

A, Change the pratective action recommendation in zones Al and
B1 from evacuate to shelter.

B. Extend the evacuation to zones A2, A3, B2, (2
C. Extend the evacuation to zones D2, E2, F2

D. The initial set of protective action recommendations remain in
effect with no changes required.
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Question #8

Catawba Nuclear Station SRO Bxam

I Pt(s)

Gues_571.3

Unit 2 is respending to a small break LOCA in ES-1 2, (Post LOCA
Cooldown and Depressurization). Step 16 of ES-1.2 requires the operators
to depressurize the NC system.

Which one of the foilowing statements correctly describes:

1.

2

The priority for using the preseribed methods of depressurizing
the NC system, and

2. The majer concern during NC system depressurization?

. Pressurizer spray - PORV - Auxiliary Spray
- To prevent voiding in the upper head and refilling the

pressurizer to a solid water condition

- Pressurizer spray — PORV - Auxiliary Spray
- To prevent thermal shocking the pressurizer spray nozzles.

- PORV — Auxiliary Spray — Pressurizer Spray
- To prevent voiding in the upper head and refilling the

pressurizer te a solid water condition

......

- PORY - Auxiliary Spray — Pressurizer Spray
- To prevent thermal shocking the pressurizer spray nozzles,

For Official Use Only Page 8



Question #9

Catawba Nuclear Station SRO BExam

1 Pt(s) Unit 1 is recovering from a loss of offsite power in ES-0.2 (Natural
Circulation Cocldown). The operators reach step 13, which states:

AF AT ANY TIME cooldown rate must be raised to greater than
30U in an hour, THEN GO TO EP/1/A/5000/ES-0.3 (Natural
Cooldown with Steam Void in Vessel)”

Given the following events and conditions:

Thet = S00°F

NC Pressure = 650 psig

RVLIS = 100% upper range, 64% lower range

All CRDM vent fans are deenergized and cannot be started
Cooldown rate is 50 °b'/hr

Which one of the following statements correctly describes the condition of
the core and the proper procedure flow path?

C.

REFERENCES PROVIDED:

The core is in a subecooled condition - transition to ES-0.3 to
continte the cooldown at > 50°F/hr cooldown rate.

The core is i a subcooled condition — remain in ES-0.2 and do
not exceed 50°F/hr cooldown rate.

The core is in a superheated condition — transition to £S-0.3 (o
continue the cosldown at >50°F/hr cooldown rate.

The core is in a superheated condition — remain in ES-0.2 and do
not exceed 50°F/hr cooldown rate,

Ques_618.2
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Question #10 Catawba Nuciear Staticn 5SRO Examn

1 Pi(s) Unit 1 was operating at 100% power with no TSAIL entries. Given the
fellowing events and conditions:

18/16 at 0200 The DG 1A was declared inoperable.

10/18 at 1100 The DG 1B was declared inoperable.

10/18 at 1260 The DG 1A was declared to be operable.

If two oftsite AC circuits remained operable throughout the sequence listed
above and DG 1B is not returned to service, which one of the following

statements correctly describes when the plant must be in mode 39

REFFERENCES PROVIDED
A, 10/19 at 0806

B. 10/21 at 1700
C. 10/22 at 6800

D. 10/22 3t 176¢
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Question #11

Catawbe Nuclear Station SRO Exam

1 Pi(s) Unit [ was operating at 100% power when 2 steam line rupture occurred,
Given the following events and conditions;

Time

The operators transitioned from E-Q (Reactor Trip or Safety
Injection) to FR-P1 (Response to imminent Thermal Shock
Condition) due to a red path.

NCPs 1A and 1B were tripped due to high vibration

The operator reached step 18 of FR-P.1, which requires 1solating the
cold leg accumulators.

Given the following parameters:

0206 0205 9210 0215

Pzr Pressure (psig) 750 700 650 600
NC Subcooling (°I'y  +50 475  +60 440
RVLIS D/P indication

Train A (%) 21 22 22 22
Train B (%) 35 37 47 57

Which one of the following sefections correctly describes:

C.

1. The earliest time that the CI.As can be isolated, and
2. The reason why the CLAs should be isolated?

Referenceys Provided:

0205 — te prevent injecting CI.A water into the reactor vessel
and increasing the thermal stress on the vessel.

0205 — to prevent injecting the CLA nitrogen bubble into the
reactor, creating a gas bubble in the vessel head region.

0218 - to prevent injecting CLA water into the rescfor vessel and
increasing the thermal stress on the vessel.

0216 - to preserve CLA volume as a source of berated water to
prevent re-criticality during cooldown.

Ques_1142
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Question #12 Catawba Nuclear Station SRO Exam

I Pt(s) Unit ] has experienced a complete loss of offsite power. (iven the
following events and conditions:

e Operators are in the process of stabilizing the plant using ES-0.1
{(Reactor Trip Response)

How is verification of adequate shutdown margin determined in this
procedure if DRPI is unavailable?

A. Initiate emergency horation flow greater than or equal to 30
gpm; all NC T, g8 greater than 535 °F

B. Initiate emergency horation flow greater than or equal to 30
gpm; all NC Ty,s greater than 535 °F

C. Initiate emergency boration te 700 ppm abeve the lasi known
boron concentration; all NC Teods greater than 535 °F

. Initiate emergency boration to 760 ppi above the last known
boron concentration; all NC Tavgs greater than 535 °F
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Question #13 Catawba Nuclear Station SRO Exam

1 Pt(s) Unit I was operating at 100% power when a turbine trip occurred. Given
the following events and conditions:

e The control rods failed to insert.

e Pressurizer pressure = 2337 psig

¢ The operators entered E-C (Reactor Trip or Safefy Injection) and
immediately transitioned to FR-S.1 (Response to Nuclear Power
Generation/ATWS) and carry out all immediate actions.

All ECCS pumps are running.

INV-236B (Boric Acid to NV Pump Suct) is opened.

Boric acid transfer pump switches are in “CN”.

INV-312A and INV-314B (Chrg Line Cont Isol) are open.

Which one of the following statements correctly describes the:
. NV pump current {(running amps) indication,
2. The reguired actions, and
3. The reasons for these actions?
A, . NV pump amps are higher than normat
. Manually actuate safety injection
. To ensure adeguate boration flow

W B bt

B. i. NV pump amps are higher than nermal
. Mapually aligo the NV pump suction te the FWST
. To provide a source of borie acid

75 ]

1. NV pump amps are lower than normat
2. Depressurize the NC system to 2135 hy opening spray valves
3. To prevent challenging the PORVs

B. 1. WV pump amps are lower than normal
2. Open the PORVS to depressurize the NC system te 2135 psig
3. To provide adequate horation fiow,
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Question #14 Catawba Nuciear Station SRO Exam

1 Pt(s) Unit 1 was operating at 100% power when a LOCA occurred with an
unisolable release path into the auxiliary building. Given the foliowing
events and conditions:

¢ The operators completed ECA-1.2 {(LOCA Outside of Containment} and
transitioned to ECA-1.1 (Loss of Emergency Coolant Recirculation)

¢ The LOCA continues into the auxiliary building.

*  Containment sump level = 3.6 feet

FWST level = 4.9%

NR S/G level = 8%

CA flow = 435 gpm

Core exit thermocouples are reading 850°F and increasing

Which one of the following statements correctly describes:
1. The major action required, and
2. 'The bases for this action?

A, 1. Depressurize the NC system
2. Ts aliow CLAs to inject to reduce NC system break flow and
loss of inventory,

B. 1. Reduce CA flow to S/Gs
2. To prescrve the remaining condensate storage inventery.

C. L. Reduce SI flow requirements to minimum
2. To prevent PTS and preserve the remaining FWST inventory,

I, 1. Enter SAMGs and take immediate actions fo refill the FWST
2. To previde a qualified source of water to centainment,
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Question #15

Catawba Nuclear Station SRO Exam

I Pt(s) Unit 1 was conducting refueling operations in mode 6. Given the following
events and conditions:

The containment purge system is in operation in the REFUEL mode.,
VQ-10 (VQ Fans Disch to Unit Vent) is open as part of a special test.
Train B of SSPS is in “test™.

The refueling crew dropped a fuel assembly into the refueling cavity.
The following slarms were received in the control room:

o 1RAD-1 A/2 (/KMF-39 Containment Gas Hi RAD)
o 1RAD-3 D/2 (1EMF-17 Reacior Bldg Refuel Bridge)

Which one of the following statements correctly describes the required
actions to respond to this event in AP-25 (Damaged Spent Fuely?

A, I.
2
- Manually close VQ-1¢.

W B e 7]

o
[ R,

[

Manually actuate containment ventilation isolation
Manually stop the containment purge system.

- Verify the containment evacuation alarm has sounded
- Manually secure the containment purge.
. Manually close V(Q-10.

. Verify the containment evacuation alarm has scunded
. Verify containment purge has been secured.
. Manually close VQ-10.

. Verify the containment evacuation alarm has sounded
. Verify containment purge has been secured.
- Verify VQ-10 has closed.

Ques_1188
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Question #16

Catawba Nuciear Station SRO Exam

1 Pi(s) Unit 1 was in mode 3 when a switchyard transient caused a loss of offsite
power on Unit 1. Given the following events and conditions:

L]

1A emergency diosel generator (D/G) was running under full load on the
LETA bus for a surveillance test.

The loss of offsite power caused the [ A D/G breaker to trip on under-
frequency and the 1A /G shutdown on overspeed.

1B emergency diesel generator (IDA3) auto-started normaily.

After the overspeed trip was reset, the 1A T/G failed to start.

Power is not available from either 1TA or 1TC.

Power to 2TC is available.

Which one of the following statements correctly describes:

A.

1
2

[u—y

bod bt

b

- A potential cause of the 1A 1)/G to auto start, and
The Case in AP-07 (Loss of Normal Power) that should be
entered, and major action taken to restore 1ETA?

- VG starting air pressure is 145 psig,
- Complete Case I (Loss of Normal Power to an Essential T, raisn)
and restore power to 1IETA from Unit 2.

. VG starting air pressure is 145 psig.
- Complete Case II (Loss of All Power to an Essential T Fain)
and start the 1A EDG manually.

. Loss of the IEMXF load center.
- Complete Case I and restore power to 1ETA from Unit 2.

- Loss of the IEMXF load center.
- Complete Case I and start the 1A EDG manuaully,

Ques 1189
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Question #17

Catawba Nuclear Station SRO Exam

1 Pi(s)

Ques_1190

Units 1 and 2 were operating at 100% power when a hurricane in the eastern
portion of the state caused extensive damage to Duke Power electrical
distribution system. Given the following events and conditions:

The plant commenced a controlled shutdown of both units because of
grid instability.

During the shutdown, a loss of offsite power occurred to both units.
The transient caused both units reactors to trip.

All four ID/Gs autematically started and powered the essential busses.
Both CAPTs auto started.

Offsite power was restored to both units 5 minutes after it was lost.

Which one of the following statements correctly describes the carliest report
that 1s required to be submitted to the NRC?

D.

References Provided:

Within one hour, report the declaration of an emergency
classification,

Within four hours, report under 10CFRS0.72.
Within eight hours, report under 10CKFR50.72.

Within 60 days, report under 16CFR508.73.
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Question #18 Catawba Nuclear Station SRO BExam

I Pi(s} Unit 1 was operating at }00% power when a loss of VI pressure occurred.
Given the following events and conditions:

¢ The VI system became heavily contaminated with oil due to a
maintenance problem.

* Both the E and F air dryer packages became plugged and airflow was
restricted,

¢ 1V5-78 was mechanically jammed shut and could net be opened.

e The manual bypass valve (1VI-671) around the air dryers is also
mechanically jammed shut.

e Unit I VI header pressure dropped to 55 psig and continued to decrease
uncontrollably 20 minutes after the first alarm,

Which one of the following statements cerrectly describes the:
1. Status of the Unit [ VI system, and
2. The action to be taken in AP-22 (Loss of Instrument Air).

A. 1. VI pressure can be restored by manually opening 1VI-560 and
cross-connecting VI to VS,
2. Manually open 1VI-500 to restore VI pressure,

B. 1. The VI pressure can he restored by shifting the VI dryers
from the “drying” te “regenerating” cycle on the automatic
microcomputer conirol system.

2. Restore VI header pressure by shifting the VI dryer cycle,

@]
B
fo—

- The VI air dryers will be automatically bypassed and the
system repressurized when 1VI-67¢ opens.
2. Verity 1VI-670 opens automatically at 45 psig.

D. 1. The VI system cannot he repressurized.
2. Manually trip the reactor before the automatic reactor trip
gecurs.
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Question #19 Catawba Nuciear Station SRO Exam

1 Pi(s) Unit T was operating at 100% power with Xenon concentration at
equilibrium. Given the following events and conditions:

Centrol bank D is at 218 steps.

Control rod H-8 drops into the core to 100 steps.

Attempts to recover the rod are not successful.

The rod is left at that position while reactor engincering evaluates the
situation,

2 2 & 3

Which one of the following statements correctly describes the:
1. Change in AFI) 24 hours after the rod dropped, and
2. The recommended action 1o stop the Xenon oscillation?

A, 1. AFD will swing in the negative direction.
- Borate the core to dampen Xenon oscillations.

o]

=
[y

- AFD will swing in the negative direction.
. Insert and withdraw bank I} to perform a “bang bang”.

]

C. 1. AFD} will swing in the positive direction.
- Borate the core to dampen Xencn oscillations.

]

=
[y

- AFD will swing in the positive direction.
. Insert and withdraw bank D to perferm a “bang bang”.

b2
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Question #20 Catawba Nuclear Station SRO Exam

1 Pt(s) Unit 1 was operating at 100% power when a feedwater controt transient
occurred. Given the following events and conditions:

e A feedwater header pressure transmitter was being returned to service.,

e A hydraulic transtent occurred in the common sensing line serving the
three feedwater header transmitters as the transmitter was being
valved-in.

e Feedwater pump speed increased by 25 rpm.

®  All main feedwater control valves opened from 50% to 70%.

s All main feed and bypass contrel vaive controllers shifted to AMANUAL
mode.

s Steam flow/feed flow mismatch shows feedwater flow is too high.

Which one of the following statements correctly describes:
i. The status of the master and individual main feedwater pump
speed controllers, and
2. The Case in AP-06 (Loss of 8/G Feedwater) and major actions
required to respond to this problem?

A. 1. The master CF pump speed controller remains in automatic,
the individual CF pump speed controllers shift to manual.
2. Enter AP-06 Case 1 (Loss of CF Supply to 5/Gs) and trip the
reactor,

B. 1. The master CF pump speed controller remains in automatic,
the individual CF pump speed controllers shift to manual,
2. Enter AP-06 Case ITI (PFCS Not in Auto) and reduce
feedwater flow using the master CF pump speed controller.

C. 1. The master and individual CF pump controHers shifi to
manual,
2. Enter AP-(6 Case LII and increase feedwater flow using the
master CF pump speed controiler.

D. 1. The master and individual CF pump controllers shift to
manuwal.
2. Enter AP-06 Case III and reduce feedwater flow using the
individual CF pump spced controliers for each CF pump.
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Question #21 Catawba Nuclear Station SRO Exam

1 Pt(s} Which one of the following changes will require a 10CFR50.59 review?

A, Change to the Physical Security Plan that requires moving a
section moving a section of the perimeter fence.

B. Revision to the Emergency Plan changes the designated
assembly areas for accountability.

. System meodification that adds a backup Nitregen accumulator
to an air operated containment isolation valve.

D. Changes to the Nuclear Quality Assurance Plan
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Question #22

Catawba Nuclear Station SRO BExam

1 Pi(s)

Ques_1195

Unit 1 was operating at 100% power when there were indications of high
activity in the NC system. Given the following events and conditions:

e Demineralizer 1A contains mixed bed resin and has been in service for
200 days since the last outage.

¢ Demineralizer 1B contains freshly charged cation resin and has becn pre-
treated but has never been piaced in service.

¢ The fuel that was loaded after the last outage has been identified to have
cladding flaws in a I0CFR21 report by the manufacturer.

Date 10/16/04
Sample Time 9200 0600 1000 1400 1800 2200
NC Activity:
Dose Equiv. I (uCi/gy 0.8 50 45 50 45 45

0600 The operators enter AP-18 (High Activity in Reactor Coolant).
¢ Letdown flow has been increased to 80 gpm.

0630 Chemisiry reports the high activity is due to failed fuel,

(3700 Reactor power has been reduced to 70%.

Which one of the following statements correctly describes the required
actions?

References Provided:

A, Remove demineralizer 1 A from service and shutdown to moede 3
(<500°F) no later than 1200 on 16/18/04.

B. Pilace demineralizer 1B in service and shutdown to mode 3
(<580°F) no kater than 1200 on 10/18/04.

C. Remove demineralizer 1A frem service and shuidown to mode 3
(<500°F) no later than 1200 on 10/16/04.

I3, Place demineralizer 1B in service and shutdown to mode 3
{<5006°F) no later than 1200 on 14/16/04.
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Question #23 Catawba Nuclear Station SRCO Exam

1 Pi(s)

Ques_119¢&

A junior engincer has reguested to conduct a special test of the diesel
generators that required operating the diesels for 24 hours at 120% rated
output power. The attached 10CFRS50.59 evaiuation states all evaluation
questions are evaluated as “NO” with the exception of;

Which one of the following statements correctly describes what additional
reguirerents are needed before this test may be approved?

References Provided:
A. Obtain Site Vice President approval prior to running this test.

B. Complete an applicability determination under NST 228 prior
to conducting this test.

C. Request a license amendment under 10CFR50.9¢ from the NRC
prior to conducting this test.

D. The test may be conducted with permission from the NRC
Senior Resident Inspector.
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Question #24 Catawba Nuclear Station SRO Exam

1 Pe(s} Unit 1 was operating at 100% power. The ORAM-SENTINAL risk model
indicates that a planned work activity places the plant in an ORANGI!
condition,

Which one of the following statements correctly describes the réduil‘cd steps
to be taken to ensure risk is managed in accordance with NSD-415
(Operational Risk Management (Modes 1 ~3) Per JOCFR50.65(u.4))7

A, Work will not be scheduled until the PRA model bas been
maodified te properly model this activity.

B. Operations and Maintenance personnel shall discuss the
planned work activity to increase Operator and Maintenance
awareness of the risk of the work activity.

C. There must be a written Risk Management Plan overseen by the
Work Control organization.

b, This work activity is not normally alowed and will not be
scheduled witheut Plant Operational Review Committee
(PORC) approval.
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